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CUSTOMER RELATIONS AND RETAIL
TRADE MANAGEMENT

(Management Major)
Paper : 53
Full Marks — 80

Time — Three hours

The figures in the margin indicate full marks
for the questions.

1. Answer the following questions as}, directed :
1x10=10

(a) Which of the foliowing is not a modern and
improved forms of retailing ?

(i) Dominos

(it) Big Bazar
(iii) Hyper Market
(iv) Kirana Stores

(Choose the correct answer).
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(b) The marketing system in which aimost all the

members of distribution channel such- as
manufacturers, distributors, wholesalers and
retailers work together to satisfy human
needs and wants by ensuring smooth flow of
goods and services to the ultimate consumers
is known as

(i) Franchising system
(ii) Vertical marketing system
(iii) Consumer co-operative store

(iv) None of the above.
(Choose the correct answer).

(c) What is the full form of TCCP ? -

(d)

(e)

is the ordering quantity that

“minimises both the cost of holding the

inventory and carrying the inventory. (Fill up
the blank).

The E-maketing activities where marketers
sell their products and services directly to the

ultimate consumers using the internet is
termed as —

(i) CLoNC
(ii) Internet marketing
(ii)B 2 C
(iv) All of the above
(Choose the correct answer).
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(f) The codes in the form of black and white

lines found on most of the products which
is used to store and transmit product
information is known as —

(i) Unicode

(ii) Bar code
(iii) Attribute

(iv) Benchmarking

(Choose the correct answer).

(g) Which one of the following is a practice of.

customer delight ?

(i) Flexible pricing

(i) Radio frequency identification system
(iii) Cross selling

(iv) Offering high level of satisfaction to the

customers by providing the unexpected
services.

(Choose the correct answer).

6/4(Sem-5) CRT 3) [Turn over



D (é-wes)v/9
(S (£)o009 ¥) 14O (S-wss)p/9

12r0 wM]]
01 -suonn[os D HRILEIRE SUS0IRED A (1)
105 syuouroxmbox K23 snopEA 0t [IE1P T L ¢ owures3oxd Kyedop st yeypm (1)
10 01=6x¢ - suonsanb Suimorjoy oy .ISMSII;I 7
Olzsjggaomd AR ) 30 JuowId[d A3y paruR0 LI ony o : T
1E1S) "JNIeUI [Ie}oI UBIpU] Ojur SuLojuo

e SusnoyaIea BiEp JO 9[0T AU}
Vv ‘plOM SSOUISNq Wiapow Ul Toj sosuidxojug nreqq s eni ung gm dn

miaq digsuorne[al I uredxg ‘v P3N sey Jafrejor 359331q s,priom oy ‘uen-repy (D)

se Sururur ejep p
ssnosip AJJo1Iq 0S|
WHD pue 11 U39

-asnoyorem Jo oouepodw] (11A) ‘Sosnoysrem sAneiado-0) (Ar)

Suposyew-g 0} SIoLIeg (1A) sasnoyorem ayeaud (111

sasnoysrem papuog (1r)

ssaooxd womIsmbog IOWOISTO JO soSeig (A)
SISnoyoreMm juowILIoAon) (1)

1 JOW0ISNO JO s[auued N0 snouep (A1) .
uonoeIul 24 : ¢ pred aq 0 104 s1 Anp

Ansnpur [iE1o1 U0 UONESEqols 3O wedwy (1) vodw yowm 10§ spoos papodun a0 o)
Pastl aze sasnoyazem SmMON0F o Jo Yorm (1)
jeunio] Sufjes 1031p JO sonsLIvIoRIRYD () I I

ssacoxd JARID Jo s oA ® SNOIOSU02-9011 (AT)

S Sl MaN (1)
y u 10Ys 9 i
: STMO[[0J S} JO 4n0f Aue U0 S310U OUS M -‘ — ’ fekory (1)
,, 210]S 9OUSTUSAUOD ST JEUM (a) SHILY. Sond (1)
(Buimorroy sy woy Yueyq
oy} ui Jii) "ooud sjqissod 3S9mO[ Oy} SISO
;, juowoSeuew ureyo Addns St IEUM (1) YOIyM 21035 y3 03 03 ]I JOWOISNO v

;, Suidnq ospudwi ST 1BUA (a1)




5.  Why organisation lose their customers ? Explain.
10

Or

Explain the various strategies for building
relationship with customers that are developed by
an organisation. 10

6. Describe the various factors leading to high retail
growth in India. Also state the major challenges
faced by this sector. 6+4=10

Or

Explain the three basic tenets of retailing. 10

7. Explain the three essential parameters necessary
= for the successful tenant mix plan. 10

Or

Describe various objectives of Logistic
Management. 10
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